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CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 

June, 2016 

BLP-001 : INTRODUCTION TO SERICULTURE 

Time : 2 hours 	 Maximum  Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. 	Define any ten : 
(a) Fibroin 
(b) Doubling 
(c) Spinning 
(d) Surface Sterilization 
(e) Mountage 
(f) Pathogens 
(g) Bivoltine 
(h) Man-day 
(i) Grainage 
(j) Acid treatment 
(k) Reeling 
(1) Synchronization 

10x1=10 

2. 	(a) Give the scientific names of 4 species of tasar 
	4 

silkworm. 
(b) What is the extent of employment 

	
3 

generation and vermicompost production 
from one hectare of mulberry/year ? 
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(c) What are the parameters considered for 	2 
deciding the quality of commercial 
cocoons ? 

(d) Name two organizations/agencies involved 
in human resource development in 
sericulture. 

3. 	(a) Name any eight activities that provide 	4 
business opportunities in sericulture. 

(b) What are the norms fixed for seed 	3 
cocoons ? 

(c) What is meant by sorting of cocoons ? 	2 
(d) What is the percentage of potassium in 	1 

muriate of potash ? 

4. 	(a) How do you differentiate male and female 	4 
silkworms in pupal stage ? 

(b) Which are the traditional states in India that 	3 
are practising sericulture ? 

(c) What do you understand by 'good quality 	2 
seed' ? 

(d) What is the percentage of cross-breed silk 	1 
produced in India ? 

5. 	(a) Name the important activities associated 	4 
with silkworm egg production. 

(b) What are the conditions to be created for 	3 
seed cocoon preservation ? 

(c) Which are the types of silkworm hybrid 	2 
layings produced in India ? 

(d) What is meant by deflossing ? 	 1 

6. 	(a) Enlist the end products of silk. 	 4 
(b) Mention the potential sources of medicine 	3 

from silkworm. 
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(c) What are the different reeling wastes 
produced ? 

(d) What is denier ? 	 1 

	

7. 	(a) Enumerate the important activities under 	4 
mulberry cultivation. 

(b) What are the training courses offered by 	3 
various Institutions in India ? 

(c) Who are called the Weavers ? 	 2 

(d) For what purpose the pierced cocoons are 	1 
used ? 

	

8. 	Fill in the blanks : 	 10x1=10 

(a) 	is the sole food plant of Bombyx 

mon. 
(b) Nesolynx thymus is the biocontrol agent of 

(c) The equipment used for spinning of cocoons 
is called 

(d) ERR is nothing but the number of larvae 
spinning cocoons out of 	larvae 

brushed. 
(e) CSR2  x CSR4, is a 	 hybrid. 

(f) A unit number of loose eggs equivalent to 
50 DFLs is 	 

(g) The full form for SHG is 	 

(h) Surface sterilization of silkworm eggs is done 
using 	 % formalin. 

(i) The activity that involves killing of disease 
causing agents is called 	• 

(j) The other name for non-mulberry silk is 
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2. (a) 4 emt 	 c1 4ri**-4TfiW 	"F"Fgf7 I 

(b) **-4T V' 71717 	A' 7179 'i1 ,71411t * 3 

31-41:R 417 	 alfiT*T:r f9Rtar f*-d-ffr 
,dart? 

(c) *1.  7:74T 7-4:1 cht 	ch-f 2 

"rfr ITT "F177 et)tif gltc41 	r t? 

(d) 14-t 3c4-11c1*.  rt'R 1-11-111474t49.  fa*-TTF 14 1 
TiTraticilft* *TR -r-41g7 

3. (a) qig 3c41q-1 	cqatlig *31-41:g k curl), f*--- 1 4 

337 Trralafq-zff *TR fFruR 
(b) cilssf 	(Seed Cocoons)* 10 finifm +f1-1c5 3 

09— ? 

(c) ta'T 	31-rcr qzrr Trrre 	? 2 

(d) 1 Tztta 3TfcF thwr 	 Tri-dvrff *srrtdr 
t? 

4. (a) 4 -7 ITT 3-1W-ETT 14 	AT Hici 	 3t-dT 

'-141.1 aTur 	,:bk 	? 

(b) 3c-41g-f 	* siT c zr 41t4 	Vri 3 
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(c) `3-1 f"*"1=rf * *7' 14 aTr-cr *fr TrRej 	? 2 

(d) -kql+-1 9-17ff 	dt-Lriko Tt.*ftff (cross-breed) 	T 1 

-51f-orff err t? 
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971 f7ft§17 I 
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sirci 
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t I 
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cwildf t I 
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